: Per for ApPPointmen He GP 4200)
Date: on Compassionat i) 5 6 (erstwhile G
I;'zm" ! e ground as JE(Sig) in Level-6 (

(10 Marks)




o

vii.  Dr. APJ Abdul Kalam was known as
a.Iron man of India

(10 Marks)
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a) 350 X 248 =

.........

b) Area of a circle With radiug 14 mis

C) 162/9 <

.........

.............

(10 Marks)
a. Time 1. meter/second?
b. Frequency 1i. second
C. Acceleration 1ii. meter
d. Vglocﬂy iv. 1/second
e. Distance V. meter/second
Q.2 Write true or false: : (10 Marks)
a. If a person travels full circle, its displacement is mo

: re than the distance travelled.
b. BIT is the short form of BINAR "DIGIT.

¢. All the instructions in a computer are internally processed in BINARY form.
d. Acceleration is a scalar quantity.

1. Unit of sound is LUMEN.
J- An object floats in water if its density is less than that of water.,

Q.3 Fill in the blanks: (10 Marks)
a. The unit of power in SI unit is

.................

..............

¢. In an Electromagnetic wave, the Electric and Magnetic waves are

d...cooo.. - AuuN +- is the most abundant gas in atmosphere. ; ;

e. The total resistance when two 10 ohm resistances are oonn'ected.m parallel is

f. In a circuit, a capacitor C and an inductor L are connected in series,
ircuit is givenby ................

me . ..g.l......l.’.yequipment is used to convert AC into DC, ‘

h. The average value of a 12 V peak sine wave over one complete cycle is

...............

then the oscillation frequency of the



N oo =i A

i. The basic logic gate whose output is the complement of the input is

J. Ina P-N junction diode, in

Q 4. Choose correct answer.,

i An ideal voltage source should have
(a) large value of e.m.f.
{¢©) zero source resistance

ii. Kirchhoff s current law states that

(a) net current flow at the junction is positive

“n" type material, majority carriers would be

(15 Marks)

(b) small value of e.m.f.

(d) infinite source resistance

(b) Algebraic sum of the currents meeting at the junction is zero

(€) no current can leave the junction without some current entering it.

(d) total sum of currents meeting at the junction is zero

iii. The circuit has resistors, capacitors and semi-conductor diodes. The circuit will be known as

(a) non-linear circuit

(c) bilateral circuit

iv. The most widely used computer device is.

(a) Solid State disk

(c) Internal Hard disk

. -(b).iinear circuit

(d) none of the above

(b) External Hard disk
(d) Mouse

v. Which of the following is NOT a component of the Central Processing Unit of the computer?

(a) Universal Serial Bus
(c) Control Unit
vi. The universal gate is

(a) NOR gate
(c) AND gate

vii. When an input signal 1 is applied to a NOT gate, the output is

(b) UPS
g (d)‘Bo_th Aand B

(b) OR gate
(d) None of the above

(a) 1 ~(b)0
(c) either0 & 1 (d) None of the above
viii. Decimal number 10 is equal to binary number ............
(a) 1110 -(b) 1010
(c) 1001 (d) 1000
ix. The number of digits in octal system is .........
(a) 8 (b) 7
{c) 9 (d) 10




i DC circuit, when the resistance increases, the current will

(b) Stop
4 {d) Remains constant

(b) Many holes
(d) No holes

mwnlmvdopedascomparedtootherregimsisaﬂed

(b) Collector
(d) Base

ted useof .........

(b) NOT gates
(d) None of the above

~ {b) NaCl
~ (d) HNO3

(15 Marks)
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